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Business Statistics
CERIPEARSIRCIE))
Bachelor of Business Administration
(BBA-10/12/16/17/BBAH-11)
Third Semester, Examination, 2017

Time : 3 Hours Max. Marks : 80

Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these
Sections according to the detailed instructions given
therein.
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Section-A / Gls—d
(Long Answer Type Questions) / (€78 IT<1I T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. Explain the types of tables and discuss the significance
of diagrams and graphs.

qiferdral & YBRT BT THSY MR R 3R 3Mmerl
@ W W T4 HINTY |

2. Calculate the standard deviation for the following data
using method of assumed mean :

2,4,8,6,10and 12
Hioud Teg &I AT BT ST B AHfIRad THD!
& fof 99 famre™ o AT BT

2, 4, 8, 6, 10, 3R 12

3. What do you understand by ‘Index Numbers’ ? Explain
Laspeyre’s and Paasche’s methods of constructing
index numbers.

GaPS W AU R FAA & 7 ARG AR TR B
BINTY |

4. Discuss methods of estimating secular trend.
HBTe AR (R-T5p1d) YgiT BT fdheld He
& TP W TdT BT |
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Section-B / Yis—4

(Short Answer Type Questions) / (T ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

Al wug @ # A6 (08) Y Iy A W
UAG Y @ forv ams (08) s fwiRa €l
el o1 g ¥ dadt IR (04) U B IR <A
gl

1. Explain data classification on the basis of attributes

and class intervals.

ol UG G SRRl & JMER W FHGI & GBI
S |

2. Find the geometric mean of 4, 9.

4, 9 & SAMNAT AEF BT TOMT DI |

3. Find the least square regression line for the following
set of data. Plot the given points and the regression line
in the same rectangular system of axes :

{(-1,0),(0,2), (1,4, (25}
YT BT S DI | 3fell B U 2 ATADR Yolelt |
few 77 o SR YT V@ BT Wiie B :
{(-1,0),(0,2), (1,4, (2,5}

4. Discuss the properties of correlation.

qedael & ol 1 fddaar Sifer |
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5. What is Coefficient of Regression ? Discuss the
standard of estimate.

YA UG R/ E P AN @ AMG Wl

DINTY |
6. Construct Fisher’s price index for the data given below :
Base (2004). Also show that Fisher’ index is the
geometric mean of Laspeyre and Paache indices :
Commodity Price Quantity
2004 2008 2004 2008
Bread 14 22 40 60
Butter 12 18 25 35
Milk 8 11 60 55
A Ry T sl ¥ FeR & o q@ais @1
I - 99 (2004) | I A 137 & ¥R &1 S
AR 3R T Edie BT AT Al &
Hed HIAT
9 2004 2008 2004 2008
IS 14 22 40 60
HRIT 12 18 25 35
4] 8 11 60 55
7. Explain construction of weighted price, quantity and
value index numbers.
MIRG qed, A1 &R I GAdIDl & AT Bl
NTHATRT |
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8. Explain the use of seasonal indices in business
forecasting.

URe: @HAE W A gEdlel $ ST
HEIRT |
Section—-C / GUs—TT
(Objective Type Questions) / (@& J)
Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this Section are compulsory.

dlc ;. @ue T H g9 (10) TR WA [ W 2| TS
g & fov e (01) od FEiRd 21 39 wve @
T e Sfard €|

Indicate whether the following are True or False :

3T eI f f=forRad v € a1 oy

1. The population standard deviation is denoted by .
TR MG g ¢ @ g IR g |

2. Discrete variables and continuous variables are two
types of qualitative classification.

IR W AR PRI =R ST YHR & JOIHD I 1HR0T

gl

3. Difference of mode an mean is equal to 3 (mean-
median).
YRISE 3R AT & AR 3 (AF-AIAD]) & TR
gl
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4. If mean is 11 and median is 13, then value of mode is
17

aﬁaﬁWH%‘aﬁ?HﬁWw%‘,aﬁﬁ&%‘zﬁrw
17 2|

5. Standard deviation of population is denoted by .
SRR BT A9 fqaed 3 W fofed B

6. Sample standard deviation is denoted by capital S.

Ireef 99a e s N ffed 2

7. A coefficient of correlation is computed to be — 0.95
meaning that the relationship between two variables is
weak.

e B TF UG — 0.95  foy UM BT SR 2 |
Tt #derd € 6 &7 R & 919 G FHIR 2 |

8. F-test statistic is used for global test of significance.

Uh-TNIE0T 3fhs Aed & dRad Weor & foly WA
fordr o

9. An index number is used to measure changes in
variable over time.

TI-99I TR U o) § IRl & 999 & folv T
A B ITINT fHIT ST 2 |

10. The ratio of a new price to the base year price is called
the price relative.

T DT BT JER qY B HAG W UM DI
TR UG HEad ¢ |
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